# STATE OF WISCONSIN Senate Journal

# One-Hundred and Third Regular Session

#### MONDAY, December 4, 2017

The Chief Clerk made the following entries under the above date.

### **CHIEF CLERK'S ENTRIES**

#### **AMENDMENTS OFFERED**

Senate Amendment 1 to **Senate Bill 473** offered by Senators Testin and Johnson.

#### **BILLS PRESENTED TO THE GOVERNOR**

The Chief Clerk records: Senate Bill 47 Senate Bill 224 Senate Bill 410 Presented to the Governor on 12-4-2017.

#### **PETITIONS AND COMMUNICATIONS**

Pursuant to Senate Rule 17 (5), Representative Zepnick added as a co-sponsor of **Senate Bill 465**.

#### State of Wisconsin Office of the Governor

December 4, 2017

The Honorable, the Senate:

The following bill(s), originating in the Senate, have been approved, signed and deposited in the office of the Secretary of State:

Bill Number	Act Number	Date Approved
Senate Bill 101		November 30, 2017
Senate Bill 119		November 30, 2017
Senate Bill 128		November 30, 2017
Senate Bill 131		November 30, 2017
Senate Bill 177		November 30, 2017
Senate Bill 186		November 30, 2017
Senate Bill 198		November 30, 2017
Senate Bill 220		November 30, 2017
Senate Bill 238		November 30, 2017
Senate Bill 239	97	November 30, 2017
Senate Bill 248		November 30, 2017
Senate Bill 258		November 30, 2017
		November 30, 2017

Senate Bill 382	107	November 30, 2017
Senate Bill 385	101	November 30, 2017
Senate Bill 392	87	November 30, 2017
Senate Bill 430	109	November 30, 2017
Senate Bill 453	113	November 30, 2017
Senate Bill 455	110	November 30, 2017

#### Sincerely,

SCOTT WALKER Governor

Pursuant to s. 35.095 (1)(b), Wisconsin Statutes, the following 2017 Act(s) have been published:

Act Number	<u>Bill Number</u>	<b>Publication Date</b>
Wisconsin Act 85	198	December 1, 2017
Wisconsin Act 86		December 1, 2017
Wisconsin Act 87	392	December 1, 2017
Wisconsin Act 90	101	December 1, 2017
Wisconsin Act 96		December 1, 2017
Wisconsin Act 97	239	December 1, 2017
Wisconsin Act 100	<b>)</b> 119	December 1, 2017
		December 1, 2017
Wisconsin Act 102	<b>2</b> 131	December 1, 2017
Wisconsin Act 103	<b>3</b> 220	December 1, 2017
Wisconsin Act 100	5 299	December 1, 2017
Wisconsin Act 107	7 382	December 1, 2017
Wisconsin Act 109	<b>9</b> 430	December 1, 2017
		December 1, 2017
Wisconsin Act 113	<b>3</b> 453	December 1, 2017
Wisconsin Act 114	<b>1</b> 186	December 1, 2017
Wisconsin Act 115	5 177	December 1, 2017
Wisconsin Act 110	5 258	December 1, 2017
		December 1, 2017

#### LEGISLATIVE REFERENCE BUREAU CORRECTIONS

#### **CORRECTIONS IN:**

#### 2017 SENATE BILL 401

Prepared by the Legislative Reference Bureau (December 1, 2017)

- 1. Page 2, line 25: delete "59.563" and substitute "29.563".
- **2.** Page 3, line 1: delete "59.563" and substitute "29.563".

#### State of Wisconsin Office of the Governor

December 4, 2017

The Honorable, the Senate:

This letter is to remove the following appointment from consideration for confirmation by the Wisconsin Senate:

**MILLER, DR. JEFFREY** of Cedarburg, as a Registered Nurse on the Board of Nursing, to serve for the term ending July 1, 2020.

Respectfully Submitted, SCOTT WALKER Governor

Pursuant to Wis. Stats. 13.172 (2) and (3), attached is the list of agency reports received from executive branch and legislative service agencies for the month of November, 2017.

#### Public Service Commission of Wisconsin

Energy Efficiency and Renewable Resources Program Activities in Wisconsin, 2016 Pursuant to 2005 Wisconsin Act 141. Received on November 7, 2017

#### **Department of Children and Families**

Summary Reports Pursuant to 48.981 (7)(cr)3.b. Received on November 3, 2017. Referred to the committee on **Health and Human Services**.

#### Wisconsin Ethics Commission

*Lobbyist Update* Pursuant to 13.685 (7), Wis. Stats. Received on November 7, 2017.

#### Shawano School District

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 7, 2017.

#### Kewaskum School District

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 8, 2017.

#### **Department of Natural Resources**

*Invasive Species Interim Performance Report 2016-2017* Pursuant to 23.22 (6)(c), Wis. Stats. Received on November 8, 2017.

#### **Department of Children and Families**

Summary Reports Pursuant to 48.981 (7)(cr)3.b. Received on November 9, 2017. Referred to the committee on **Health and Human Services**.

#### Wisconsin Ethics Commission

Lobbyist Update Pursuant to 13.685 (7), Wis. Stats. Received on November 14, 2017.

#### Wisconsin Economic Development Corporation

*FY17 Comprehensive Annual Financial Report (CAFR)* Pursuant to 238.07 (4), Wis. Stat. Received on November 14, 2017.

#### **Department of Natural Resources**

Stewardship Nature Based Outdoor Recreation Activity Prohibition Report Pursuant to 23.0916 (6). Wis. Stats. Received on November 8, 2017. Referred to the committee on **Natural Resources and Energy**.

#### **Department of Natural Resources**

Land Acquisition Report Pursuant to 23.0913 (2). Wis. Stats. Received on November 8, 2017. Referred to the committee on **Natural Resources and Energy**.

#### University of Wisconsin System

2017 Legislated Accountability Requirement Pursuant to 2011 Wisconsin Act 32 and 20115 Wisconsin Act 55. Received on November 16, 2017.

#### **Department of Administration**

Written Hiring Reasons Report Pursuant to 230.21 (1m)(b) and 230.27 (2k), Wis. Stats. Received on November 22, 2017.

#### Hortonville Area School District

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 17, 2017.

#### **Rural Virtual Academy**

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 17, 2017.

#### **Grantsburg School District**

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 20, 2017.

# Department of Administration and Department of Natural Resources

Biennial Report on Operation of Clean Water Fund and Safe Drinking Water Loan Programs Pursuant to 281.59 (3)(j). Wis. Stats. Received on November 27, 2017.

#### Wisconsin Ethics Commission

Lobbyist Update Pursuant to 13.685 (7), Wis. Stats. Received on November 21, 2017.

#### Verona Area School District

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 21, 2017.

#### **Department of Children and Families** Summary Reports

Pursuant to 48.981 (7)(cr)3.b. Received on November 22, 2017. Referred to the committee on **Health and Human Services**.

#### **School District of Lodi**

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 27, 2017.

#### School District of Glenwood City

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 27, 2017.

#### **School District of Rhinelander**

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 28, 2017.

#### **Janesville School District**

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 28, 2017.

#### Legislative Audit Bureau

*Read to Lead Development Fund* Pursuant to 13.94 (1)(dL), Wis. Stats. Received on November 28, 2017.

#### **Tomorrow River School District**

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 28, 2017.

#### Prairie du Chien School District

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 28, 2017.

#### School District of West De Pere

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 28, 2017.

#### **Elkhorn Area School District**

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 29, 2017.

#### Whitewater Unified School District

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 29, 2017.

#### **Appleton Area School District**

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 29, 2017.

#### **Chetek-Weyerhaeuser Area School District**

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 29, 2017.

**Department of Administration** Annual Report for the Badger Fund of Funds I Pursuant to 16.295 (7)(b), Wis. Stats. Received on November 30, 2017.

#### Legislative Audit Bureau

*Petroleum Inspection Fee Revenue Obligations Program* Pursuant to 13.94, Wis. Stats. Received on November 30, 2017.

#### Mukwonago Area School District

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 30, 2017.

#### School District of New London

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 30, 2017.

#### Augusta School District

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 30, 2017.

#### **Department of Children and Families**

Summary Reports Pursuant to 48.981 (7)(cr)3.b. Received on November 30, 2017. Referred to the committee on **Health and Human Services**.

#### Madison Metropolitan School District

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 30, 2017.

#### **Cumberland School District**

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 30, 2017.

#### **Oconto Unified School District**

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 30, 2017.

#### **UW-Parkside**

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 30, 2017.

#### Sheboygan Area School District

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 30, 2017.

#### Wausau School District

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 30, 2017.

#### **School District of Cameron**

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 30, 2017.

## School District of Wisconsin Rapids

2016-17 Charter School Authorizer Annual Report

Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 30, 2017.

#### **Barron Area School District**

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 30, 2017.

#### **Birchwood School District**

2016-17 Charter School Authorizer Annual Report Pursuant to 118.40 (3m)(f), Wis. Stats. Received on November 30, 2017.

#### **Department of Administration**

*Temporary Reallocation of Balances* Pursuant to 20.002 (11)(f), Wis. Stats. Received on December 1, 2017. Referred to the joint committee on **Finance**.

### **REFERRALS AND RECEIPT OF COMMITTEE REPORTS CONCERNING PROPOSED ADMINISTRATIVE RULES**

The joint committee for review of **Administrative Rules** reported and recommended:

#### Senate Clearinghouse Rule 16-062

Relating to the licensure of private practice school psychologists.

No action taken on November 30, 2017.

#### Senate Clearinghouse Rule 17-003

Relating to the Veterans Employment and Entrepreneurship Grant Program.

No action taken on November 30, 2017.

#### Senate Clearinghouse Rule 17-035

Relating to settlement of campaign finance, lobbying, and ethics violations.

No action taken on December 1, 2017.

#### Senate Clearinghouse Rule 17-042

Relating to practice and procedure.

No action taken on November 30, 2017.

#### Senate Clearinghouse Rule 17-056

Relating to Red Tape Review of rules governing school district boundary appeals, pupil nondiscrimination, and school finance.

No action taken on November 30, 2017.

STEPHEN NASS Senate Chairperson

#### Motions Under Senate Rule 98 and Joint Rule 7 for the Month of November 2017

A certificate of congratulations by the Wisconsin Senate on the motion of Senator Moulton, for Simon P. Arneberg, on the occasion of earning and attaining the rank of the Eagle Scout Award.

A certificate of congratulations by the Wisconsin Senate on the motion of Senator Hansen, for Cody Bettis, on the occasion of earning and attaining the rank of the Eagle Scout.

A certificate of congratulations by the Wisconsin Senate on the motion of Senator Miller, for Henry Bexon, on the occasion of earning and attaining the rank of the Eagle Scout Award.

A certificate of commendations by the Wisconsin Senate on the motion of Senator Taylor, for Mother Mabel Carson, on the occasion of her dedication and hard work for the last five years, feeding the community and the neighbors on the block she has lived on.

A certificate of congratulations by the Wisconsin Senate on the motion of Senator Miller, for Ms. Shantel Davis, on the occasion of recognition of National Parent Involvement Day from ALLPARENTSONDECK.

A certificate of congratulations by the Wisconsin Senate on the motion of Senator Vukmir, for Alexander Freedy, on the occasion of earning and attaining the rank of the Eagle Scout Award.

A certificate of congratulations by the Wisconsin Senate on the motion of Senator Vukmir, for Christopher Freedy, on the occasion of earning and attaining the rank of the Eagle Scout Award.

A certificate of commendations by the Wisconsin Senate on the motion of Senator Darling, for John Gassert, on the occasion of being presented the 2017 Outstanding Citizen of the Year award from the Grafton Area Chamber of Commerce and wish him continued success in all their future endeavors.

A certificate of commendations by the Wisconsin Senate on the motion of Senator Darling, for Ryan Gettelfinger, on the occasion of earning and attaining the Girl Scout Gold Award.

A certificate of congratulations by the Wisconsin Senate on the motion of Senator Miller, for Ms. Maria Gonzalez, on the occasion of recognition of National Parent Involvement Day from ALLPARENTSONDECK.

A certificate of commendations by the Wisconsin Senate on the motion of Senator Risser, for Regina Haugen, on the occasion of being a Music teacher, and for her exceptional efforts, her remarkable community involvement, and her outstanding achievements.

A certificate of commendations by the Wisconsin Senate on the motion of Senator Risser, for Karen Houlihan, on the occasion of being a Spanish teacher at Edgewood High School, her exceptional efforts, her remarkable community involvement, and her outstanding achievements.

A certificate of congratulations by the Wisconsin Senate on the motion of Senator Miller, for Ms. Renae Huffman, on the occasion of recognition of National Parent Involvement Day from ALLPARENTSONDECK. A certificate of congratulations by the Wisconsin Senate on the motion of Senator Miller, for Wilmer and Mable Jackson, on the occasion of recognition of National Parent Involvement Day from ALLPARENTSONDECK.

A certificate of congratulations by the Wisconsin Senate on the motion of Senator Vukmir, for Charles John Koehler IV, on the occasion of earning and attaining the rank of the Eagle Scout Award.

A certificate of congratulations by the Wisconsin Senate on the motion of Senator Vukmir, for Anthony Robert Kopczynki, on the occasion of earning and attaining the rank of the Eagle Scout Award.

A certificate of congratulations by the Wisconsin Senate on the motion of Senator Miller, for Carter Kreft, on the occasion of earning and attaining the rank of the Eagle Scout Award.

A certificate of congratulations by the Wisconsin Senate on the motion of Senator Miller, for Alex Ladwig, on the occasion of earning and attaining the rank of the Eagle Scout Award.

A certificate of congratulations by the Wisconsin Legislature on the motion of Senator Hansen, for Seth Francis Lee, on the occasion of earning and attaining the rank of the Eagle Scout Award.

A certificate of commendations by the Wisconsin Senate on the motion of Senator Kapenga, for Lucas Migliaccio, on the occasion of earning and attaining the rank of the Eagle Scout Award.

A certificate of congratulations by the Wisconsin Senate on the motion of Senator Hansen, for Cole Malke, on the occasion of earning and attaining the rank of the Eagle Scout Award.

A certificate of commendations by the Wisconsin Senate on the motion of Senator Darling, for Oriole Lane Elementary School, on the occasion of their selection as a 2017 National Blue Ribbon School and wish the students, teachers, and the administration continued success in the future.

A certificate of commendations by the Wisconsin Senate on the motion of Senator Darling, for Jenna Szydel, on the occasion of earning and attaining the Girl Scout Gold Award.

A certificate of congratulations by the Wisconsin Senate on the motion of Senator Vinehout, for Dean Taylor, on the occasion of his retirement from the Black River Falls Police Department after years of dedicated service.

A certificate of commendations by the Wisconsin Senate on the motion of Senator Craig, for Brandon Washburn, on the occasion of earning and attaining the rank of the Eagle Scout Award.

A certificate of commendations by the Wisconsin Senate on the motion of Senator Stroebel, for Erik Wogsland, on the occasion of earning and attaining the rank of the Eagle Scout Award.